Chapter 10 Segment Performance Measurements

Answer 1
(a)
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Answer 2
(a)

[image: image4.png]The segmented income statements are as follows:

Sales
Variable cost
Contribution margin
Fixed cost
Segment margin
Corporate fixed cost
Net Profit

36
$15,000,000
$4,500,000
$10,500,000
$6,300,000
$4,200,000

46 Company
$18,000,000  $33,000,000
$4,680,000  $9,180,000
$13,320,000  $23,820,000
$9,450,000  $15,750,000
$3,870,000  $8,070,000
7,080,000
$990,000




(b)

[image: image5.png]Segment reporting lists the revenue, expense and profit for each segment. Responsibility
accounting requires each individual centre to be accountable for its revenue, expense and/or
profit, hence management needs such information for feedback, control and evaluation.
The segment margins of $4,200,000 and $3,870,000 for 3G and 4G respectively are relevant
for responsibility accounting as it is related to the performance of individual segments.




(c)

[image: image6.png]A decentralised structure allows management to be flexible and responsive to the market
and production. The director of the 3G product is responsible for the production and
marketing of the products, therefore a decentralised structure allows him to make quick
decisions without reverting back to and waiting for central corporate decisions. It also

provides a good training ground for the divisional managers for their advancement to senior
management in the future.




(d)

[image: image7.png]The THREE levels of responsibility include cost centre where management is responsible for
the incurrence of cost. It also includes profit centre where management is accountable for
both revenue and cost, hence profit Lastly, it includes investment centre where
management is responsible for cost, revenue and the investment return of shareholders’




[image: image8.png]funds. Management needs to ensure that the investment return is greater than the cost of
funds. The 3G business most likely belongs to profit centre as the director needs to take
care of its revenue and cost, hence profit.
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